KTPS>x2T [ZFFTILK]

£ Al P& FA RP SRW | BEn | AEE | RN | &%
1| XFa =£#0 (CLoWHAT) 384 32 128 128 128 416
2IlUFT B4R (F=R/8—%) 352 128 128 96 352
3EER FAC (F=R/8—%) 288 96 96 96 0 288
4E%E B (CoLHAT) 224 96 0 32 96 224
5|1EiE EHX (EJRF) 192 32 64 64 64 224
5|#)Il BHEF (KJRF) 192 32 64 64 64 224
7|k T (EJRF) 192 128 64 192
8| AR+ HE (CoLHAT) 160 64 32 64 160
8|kt & (F=RI\—%) 160 64 96 160
10[;EH FE (OAETC) 128 32 0 32 64 128
10|k A |(F=x/5—2Jr)| 128 128 128
10[E#8 X (CoLHAT) 128 128 128
13| HELy | (CeWHAT) 96 0 96 96
13[/N8p E# (F=R18—%) 96 64 0 32 0 96
13|81l #E (KJRF) 96 32 0 64 0 96
13[E #EK (BB /NI K) 96 64 32 96
13|5FH BF (F=R/8—%) 96 64 0 32 96
18| MEY (TLAL3vY) 64 64 64
19[/hie & (TLALayy)| 32 0 0 32 0 32
19| BB (EJRF) 32 32 0 0 32
19|#8H HBE [ (T=R/\—9Jr) 32 32 32
19[ILs HBEEF | (CeLWHAT) 32 0 32 0 32
19[/hIE IF | (F=R/8—=%Jr) 32 32 32
24|58 BH (FRTC) 26 10 16 0 26
24| faAR FHiEF (FRTC) 26 10 16 0 26
26|k wiE | BIRIEER) 16 16 0 16
26| 5 Bt | FIRTIESR) 16 16 16
28|1REk HEHF | (T=R/\—79) 10 10 0 10
28|fFA FF [ (T=R/3—%) 10 10 0 10
0|R+jE E=F (FRTC) 8 0 8 8
30|M0Ek FiF | (TLALLavy) 8 8 8
0|mE UOnB | (LeLWHAT) 8 8 0 8
0|FHE Mg | (ISR 8 8 8
30|51 BE | BIRIESR) 8 8 8
0|AH EF |BFET-AHD) 8 8 0 8
30| A H# (T=R/N\—%) 8 8 0 8
30|=R & (BFET=RHLR) 8 8 0 8




